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1. Describe a deadlock between two processes, A and B, that are sharing two
semaphores, S; and S,. (4%)
Show two methods to solve the above problem and compare the advantages and
disadvantages between these two methods. (6%)

2. What are the functions of “linker” and “loader?” (4%)
Compare the advantages and disadvantages between “static linking” and
“dynamic linking.” (6%)

Why the performance optimizations for file systems might result in difficulties in
maintaining the consistency of the systems in the event of computer crashes?
Show an example to explain your reason. (5%)

4, EEBRIERTZ EHEIERE B EKER TS Relability) - (3%)
5. NBRE—&4Ek » BT LAEN F4EHEHE - WIENKES - ElEcmal

(S

7(3%)
6. OSI 7-layerfSBI38 » ByfilLayer 28R Layer 4807 B H A S EH E I BLRRHEAY
BEST ? (3%)

7. BICHAPREE I ELLIRE % 7 3%)

8. HMEFIFHRGS84G M LIFIUERENS ? AR - (3%)

9. BfTEREAIIE AL I SRR %A & HE ession key? (3%)
10. Byfalcookieshz il B LUEFHHTTPAY G Esstateless? (3%)

11. {e[E8VLAN (Virtual LAN)? (2%)
EBET T SIS EEIIRA? (2%)

12. Complete the listed SQL statements which have done the following: “For each
branch office with more than two members of staff, find the number of staff
working in each branch and the sum of their salaries.” Following are some
relations that might be used. (7%)

Staff (staffNo, name, position, salary, branchNo)

Branch (branchNo, name, salary, branchAddr, director)

Salary (position, branchNo, rank, salary)

(Notes: “staffNo” is the ID number of a staff.
“branchNo” is the ID number of a branch.
“branchAddr” is the address of a branch.)

SELECT  branchNo, @) . _(b)__(salary) jf&
FROM _ (& j{;‘
(@)
HAVING © 7;3;3&
13. A data warehouse was deenied the solution to meet the requirements of a system ?
capable of supporting decision making, receiving data from multiple operational
data sources. Draw the typical architecture of a data warehouse. (8%)
14, H—(EARIEE  EETHEINHEE - BRE—(EERRRRENEE S
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***********************class COIIlpOﬂCllt 3 sk sk ek sk ok ok ok sk s st skok ok ke

public class Component{

private String id;

private double cost;

public Component(String id, double cost){
2%

1

J
public double getCost(){ return cost; }
}

ok ok ok bRk kR kR G a o Prgpppe *F R Rkt ko ks ok ok ok ok

public class Frame extends Component {

IEsT BB B(RIFTEEHY Reinvent the wheel”) » YA SIEIUSIERIHT 2R
5%

***********************Class Wheel ok ok ok ok sk sk st s sk g sfe sk ofesfe sk of sk sl sk e

HTFWheelSiclass Frame N A ZEIELL » FELLIS » FEBIE S

e T e e Bicycle *# kst stk o

public class Bicycle{
4%

public Bicycle(Wheel w, Frame f){
this.w = w;
this.f=f;
2%

1
5
ublic void changeWheel(Wheel w2){
2%
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public void changeFrame(Frame {2){
2%

}
NEERCR EEEH T EZ  AARESER AT - R R R
AR BEE A/

public double getCost(){

return 500 + w.getCost() + f.getCost();

1
J

}
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public class TestScreen{
public static void main(String [] abc){

IAGT A RTESEE  TERTEENE - Fiow] BNEL & R 1% Madm 1
Wheel wi = new Wheel("161}", 16, 2000);
Wheel w2 = new Wheel("2011", 20, 3000);
(/B2 = EEE
Frame f1 = new Frame("ah&EHHL", “iron", 2000);
Frame f2 = new Frame("bRFERE Y, "iron", 3000);
Frame 3 = new Frame("chE B A", "alloy", 5000);
MRS (B (L) E—E » BT B lon ~ BHA R g REL" §/NFE - AEFY ENEAD
DOSEHEHIE—1THIEN
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}
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